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Direction : The following 07 (SEVEN) items 4.

' ’

consist of two statements, statement I and
statement II. You are to examine these two
statements carefully and select the answers to
these items using the code given below :

Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(b)

Both the statements are individually

true but Statement II is not the correct
explanation of Statement I

(c) Statement I is true but Statement II

is false

(d)

is true

1. Statement I

~ Statement II

2.  Statement I

Statement 11

3. Statement |

Statement II

: The

Statement I is false but Statement II

: The Rajya Sabha is not

subject to dissolution and
the members enjoy a
tenure of six years

. According to Article 83

of the Constitution of
India, one third of
members of Rajya Sabha
retire every two years

: Impeachment procedure

is a quasi-judicial
procedure -and the
President of India can be
impeached only on the
grounds of violation of
the Constitution

impeachment
procedure can be initiated
in either House of the
Parliament

. James Prinsep, an officer

in the mint of the East
India " - Company,
deciphered Brahmi and
Kharosthi scripts which

were used in the earliest -

inscriptions and coins

. James Prinsep found that

most of the scripts
mentioned a king referred
to as Piyadassi—meaning
‘pleasant to behold’

*ho

. Statement 11

Statement |

Statement |

Statement 11

Statement [

Statement II - :

Statement |

Statement II
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: The rich sculptural

tradition of Mathura is
distinguished by its
principal medium, the
white  spotted red
'sandstone '

: The white spotted red

sandstone is locally
available in Mathura
region

: The cities of the second

urbanization in Indian
history are mainly located
in the Ganga valley
iron
technology, ensuring an
agrarian surplus is
_instrumental to this
process of urbanization

: The Doldrums is a low
pressure area around the
the

Equator where:
prevailing winds are calm
Low pressure is caused
by the heat at the Equator
which makes the air tise

and travel both Northwards

and Southwards

: Roaring Forties are

strong Westerly winds
found in the Southern
Hemisphere, generally
between the latitudes of
40° and 50°

: The strong East to West

air currents are caused by
the combination of air
being displaced from the
Equator towards the
South Pole and the
Earth’s rotation and there
are few landmasses to
serve as wind breaks
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8.

10.

Which one of the following statements
with regard to the revised ceiling on poll
expenditure for elections in India is
correct ?

(a) Rs. 40 Lakh per candidate for all Lok
Sabha as well as Assembly
Constituencies

(b) Rs. 70 Lakh per candidate for ali Lok
Sabha Constituencies

(¢) Rs. 70 Lakh per candidate for Lok
Sabha Constituencies for all states
except Arunachal Pradesh, Goa and
Sikkim

(d) Rs. 70 Lakh per candidate for Lok
Sabha Constituencies for all states
except Union Territories

Which of the following does not relate to

the Fundamental Rights as enshrined in -

the Constitution of India ?

.1. Free and compulsory education to ail

children of the age of 6-14 years

2. Prohibition of trafficking in human
beings and forced labour

3. Improvement of Public health and
prohibition of intoxicating drinks

4. Promotion of the educational and
economic interests of the weaker
sections of the people, especially the
Scheduled Castes and Scheduled
Tribes

Select the correct answer using the code

given below :

(8 land?2

(b) 2 and 4

{c) 3 only

(d) 3 and 4

Which one among the following regarding
the Ahadis of the Mughal period is not
true ?

(a) They were individual troopers

(b) They were placed under a separate
Diwan and Bakhshi

(¢) They were ordinarily not placed under

the Mansabdars
(d) Their salary was at par with the
Mansabdars

*

11.

12,

13.

14.

- exhumed from a well at

Consider the following :

In March 2014 mortal remains of a number

of Indian soldiers of 1857 mutiny were

. These

mortal remains are of who

revolted against the Brifish.

Complete the statements with appropriate

information using the code given below :

(a) Jallianwala Bagh, 36 Regiment of
Sikh Infantry '

(b) Lahore, 75 Regular Native Infantry

" Regiment

(c) Ajnala, 26 Regiment of Bengal Native
Infantry .

(d) Satti Chaura Ghat, 19 Regiment of
Bengal Native Infantry

When a fall in price ‘o'f a commodity
reduces ‘total expenditure and a rise in

' price increases it, price elasticity of demand

will be :

@ 1

(b)) <1

() >1
(d) Infinity

Which one among the following cannot
be attributed to Shahjahan’s reign ?

(a) Moti Masjid

(b) Qila-i-Kuhna Masjid

(¢} Jama Masjid

(d). Rang Mahal

The historical drama film €12 Years a Slave’
which was adjudged best picture at 86
Academy Awards presented in March 2014,
is based on 1853 memoir of the same
name by :

(a) Steve McQueen

(b) Solomon Northup

(¢) Brad Pitt

(d) Matthew McConaughey
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15.

16.
* true of bead-making as a salient feature
"of mature Harappan crafts ?

®)

Which of the following are true regarding

‘the Preamble of the Constitution of

India ?

1. The Objective Resolution was
proposed by Jawaharlal Nehru and
passed by the Constituent Assembly
which ultimately became the Preamble

2. The idea of the Preamble was
borrov\}ed from the Constitution of
USA .,

3. The words ‘Socialist’ and “Secular’
were adopted by the 42 Amendment
in 1976

4. The Preamble incorporates the
Fundamental Rights of the citizens
of India

Select the correct answer using the code

given below :

(@ 1,2and 3

(b)" 2,3 and 4

(¢) 1,3 and 4

(d) 1,2 and 4

Which one among the following is not

(a) Harappan beads were made of gold,
copper, shell, lapis lazuli; ivory and
a variety of semi-precious stones
Archaeologists have identified bead-
makcr‘s’ shops on the basis of
assemblages of unfinished objects
At Chanhudaro, tools, furnaces and
beads in various stages of preparations
have been found

()

(d) The structure at Banawali yielded
many beads in finished, semi-finished

and unfinished states

#ON

17. The leader of which one of the following
countries has recently executed his deputy
who happened to be his own uncle ?
(a) South Sudan

(b) Syria

(c) Myanmar

(d) North Korea

18.

19.

20.

Which of the following statements is true 7
(a) The Panchayat system exists in all

®)

(©)

@

states of India except Nagaland,
Meghalaya and Mizoram. It also exists
in all Union Territories except Dethi
The Panchayat system is introduced
in India by the Constitution 74®
Amendment Act, and envisages a
three tier system of Local Governance -
Panchayat system is not prov1ded for
states having less than 2 million
population

Gram Panchayat can continue for
3 years from the date of election

Composition of the biography of the
Buddha occupies a special place in
Buddhist literature. Which one among the
following. is a full-fledged biography of
the Buddha ?

(a) Lalitavistara

(b) Milind Panho

(¢) Sariputra-prakarana

(d) Avadanasataka

Which one among the following statements
about the GSLV-D5 launched by India on
5 January 2014 is not true 7

(a) It puts India in an elite club with

®)
)]

(d)

Russia, USA, China, Japan and France
It uses an indigenously built cryogenic
engine

It can place communication satellites
into orbit without depending on any
other country

It placed INSAT-14 precisely into its
orbit
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21.

22.

23.
" did not top in their respective Groups
in the 2013-2014 Ranji Trophy League

Which of the following is/are true regarding
Urban Local Bodies in India ?

1. The Constitution 74 Amendment Act -

envisages three types of urban local

bodies, namely Municipal
Corporation, Mun1c1pa11ty and City
 Council

2. Municipal Corporations are
established in cities with population
greater than 1 million

3. Bombay and Calcutta Corporations
were the first Municipal Corporations

. that were established durmg British

time
Select the correct answer using the code
given below-:
(@ 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) 1,2 and 3

The Assam Company, consisting of
Furopean tea planters, remained the virtual
proprietor of the tea industry till 1850. In
the: 1850s, who among the following
established two small proprietary tea

pardens of his own, which were confiscated
by the State after his execution for treason

in 1858 ?
(a) Anandaram Dhekial Phukan
(b) Gunabhiram Barua

" (¢) Lakhinath Bezbarua

(d) Maniram Dewan

Which one among the following teams

Table ?

(a) Karnataka
(b) Punjab

{¢) Railways
(d) Maharashtra

* 00

24. Which of the following statements are
correct regarding the election of the
President of India ? :

25.

26.

1.
2.

He is elected indirectly

He is elected through an electoral
college consisting of all elected MPs
and MLAs

He is elected directly

Members of.the Legislative Council
have no right to vote in the
Presidential election

Select the correct answer usmg the code
given below :

(a) 1 and 2 only
(b) 1,2 and 4

(c) 1 and 4 only

(d) 3 and 4

Dinabandhu Mitra published a play in
Bengali titled : Neel Darpan (Blue Mirror),
which depicted the atrocities on the indigo
planters. The play was translated into
English by :

(a) Reverend James Long

(b) Dwarkanath Tagore - .
(c¢) Michael Madhusudan Dutta

(d) Rabindranath Tagore

Consider the following statements :

1.

The Presidency of the Council of
European Union rotates among the
Member States every six months
Italy became the President of the
European Union for six months since
1 January 2014

Which of the statements given above is/
are correct ?

(a) 1 only

(b) 2 only

(c) Both.1 and 2
(d) Neither 1 nor 2
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27.

28.

29..

Which of the following are related to Right

to Equality under the provisions of Articles
14 — 18 of the Constitution of India ?

1. Prohibition of discrimination on
grounds of religion, race, caste, sex
or place of birth

2. Equality of opportunity in matters of
public employment

3. Educational and cultural rights- to
minorities

4, Abolition of untouchability

Select the correct answer using the code
given below :

(@ 1,2and 3
{t) 3 and 4

(¢) 1,2 and 4
(d) 1 and 2 only

Which of the following statements is/are
correct ?

1. Humayun invented Taj-l-lzzat

2. Taj-i-izzat was a head gear, composed

of a cap and a wrapping cloth

Select the correct answer using the code
given below :

(a)- 1 only
(b) 2 only
(¢) Both 1 and 2

. {d) Neither 1 nor 2

Which of the statements given below is/

are correct ?

1. For the marketing year 2014 — 2015,
the minimum support price (MSP)
for wheat in India has been fixed at
Rs. 1,400 / quintal

2. MSP is the rate at which the
government sells the grains through
the fair price shops

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

30.

31.

32.

Which of the following is/are correct

regarding the office of Governor in India ? -

1. One Governor can act as Governor
of more than one State

2. The Governor has the power to grant
pardons, reprieves, remission of
punishment to persons convicted
under the State Law

3. The Governor is appointed by the
President on the recommendation of
the Chief Minister of the respective
State , ‘

Select the correct answer using the code

given below :

(a) 1 and 2 only

(b) 1,2and 3

(¢) 2 and 3 only

(d) 1 only .

Which one among the folloiving was/were

the motive/motives behind Muhammad Bin -

Tughlaq’s transfer of capital from Delhi

to Daulatabad ?

1. The shift to Daulatabad would give
him a chance to establish control over
Deccan and Gujarat

2. It would provide access to the Western
and Southern ports

3. It would protect him from direct
Mongol invasion from the North-
Western frontier

Select the correct answer using the code

given below :

(a) 1 and 2 only

'(b) 2 and 3 only

(¢) 1 and 3 only
(d) 1,2and3

‘The Economic Advisory Council to the

Prime Minister (PMEAC) in India has
recommended phased dilution of

Government stake in Public Sector Banks
" from :

(a) 74% to 56%
(b) 58% to 51%

() 58% to 49%

(d) 51% to 49%
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33.

34.

35.

- 36.

37.

The major cleavage in global human rights
discourse has been between :

(a) religious rights v. civil rights
(b) national rights v. minority rights
(¢) gender rights v. equal rights

(d) civil and political rights v. economic,
social and cultural rights

Which one among the following is not
true of the Brahmo Samaj ?

(a) It considered Vedic scriptures as
infallible
(b)

It opposed idolatry
(¢) It emphasized the worship of one God
(@)

It emphasized the worship of God
without the mediation of priests

Which of the statements given below is/

are correct ?

1. In India, the provisions of General
Anti-Avoidance Rule (GAAR) will
be implemented with effect from
1 April 2015

2. The provisions of GAAR were aimed

at checking tax avoidance by overseas
investors

Select the correct answer using the code
given below :

(a) 1 only

() 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

The rate at which the consumer is willing
to substitute one good for another without
changing the level of satisfaction is known
as :

(a) Marginal rate of substitution

(b) Marginal rate of technical substitution
(¢) Diminishing marginal utility

(d) Equi-marginal utility

Which one among the following is not
true of the Theosophical Society o Madam
H P Blavatsky ?

(a) It was founded outside India

(b) It advocated the revival of ancient

- religions

(¢) It recognized the doctrine of
transmigration of soul

(d) It was silent on the idea of Universal

Brotherhood :

38.

39.

40.

41.

(a)

Recently a leading public sector bank of
India has allowed withdrawal of upto
Rs. 1000 from any shop/trader with a point-
of-sale (PoS) terminal. Identify the bank
from below : :

(a) Bank of Maharashtra
(b) Punjab National Bank
(c) “State Bank of India
(d) Bank of Baroda

The issue whether a commitment made
by a Minister on the floor of the House
has been fulfilled or not is decided by
the : .

Concerned Departmentally Related
Committee

.Business Advisory Committee
Committee on Public Assurances
Political Affairs Committee of the
Union Cabinet

(b)
(c)
@

Which one among the following was
not a provision of the Regulating Act of
1773 ?

(a) It introduced Parliamentary
supervision over the East India
Company

The Government of Bengal was
vested in a Governor General and
the Council of four members

It changed the power of vote in the
Court of Proprietors by removing all
restrictions on qualifications

The Governor General was vested
with a casting vote

(b)
(©)

(d)

Recently Iran has clinched a deal with
six world powers to curb nuclear activities.
Which one among the following is not a

party to it ?

(a) USA

(b) France

(¢) Russia

d) Japan
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42.

43,

44,

Which of the following statements related

to Money Bills is not correct ?

(a) It cannot be introduced in the Council
of States

(b) If any question 'arises whether the
Bill is Money Bill or not, the decision
of the Speaker is final

" {c) In case of deadlock over a Money

Bill, the President can summon a joint
sitting of the Parliament
(d) A Money Bill cannot be introduced

except on the recommendation of the
President

Wlﬁch one among the following explains
the meaning of the ‘Safety Valve Theory’
in the context of Indian National

. Movement ?

(a) A theory that argued that the Congress
was formed as a safe outlet to the
discontented educated Indians

(b) A theory that argued that the Congress
was formed as a safe outlet to the
hostile attitude of the British towards
the Indian people .

(¢) A theory which believed that the
British and the ex-rebels of 1857
should amicably resolve their
differences against each other

(d) Anidea aimed at promoting goodwill
among the Indian people

As per the latest trade agreement in Bali

Ministerial Conference of WTO, India and

other developing and under developed

countries can launch food security

programmes :

(a) forever without any penalty under
WTO rules

(b) till an alternative mechanism is

developed
(¢c) for four calendar years

(d) only if subsidy component under such
programmes is less than 10 per cent

45,

46,

47.

Which of the following statements
regarding the residuary powers under the
Constitution of India is/are correct ?

1. Residuary powers have been given

to the Union Parliament
2. In the matter of residuary power, the
Constitution of India follows the
Constitution of Australia
3. Schedule 7 of the Constitution of India
- provides a list .of residuary powers
4. The Government of India Act 1935

. placed residuary powers in the hands
of the Governor General

- Select the correct answer using the code

given below :
(a) 1and3
(b) 2 and 3
(c) 1and 4
(d) 4 only

The Deccan Riots Commission was
concerned with

(a) indebtedness of the peasant

(b) lack of law and order in the Deccan
(c) problems with the Ryotwari system
(d) communal riots in the Deccan

Which of the following statements about
Vijay Seshadri isfare correct ?

1. He is an India-born US poet

2. He won the prestigious Pulitzer Prize
in the year 2014 for his book
3 Sections’

3. He is the first Indian origin person
to bag the Pulitzer Prize .

Select the correct answer using the code
given below :

(a) 1 only

(b) 1 and 2 only
(c) 2and 3

(d) 1,2 and 3
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- 48.
" characteristic of globalization ?

- 49,

50.

51.

(a)
O
- (€)

Which of the following is net a
(a)
®
()
(d)

Fragility of national barriers for the
flow of capital and goods

Rapid flow of information, capital
and goods

Networking of cultural, economic and
political relations

Global infrastructure of formal and
informal institutional arrangements

William James, Henry Colebrooke and
Nathaniel Halhed had which of the
following common among them ?

They were critics of Indian culture
and civilization

They were judges at the courts of
the East India Company

They were professors teaching history
and society of South Asia

They were linguists who tried to

(d)

interpret the culture of South Asia

‘to the East India Company

Data presented in Interim Budget for

2014 — 2015 reveal that for the financial

year 2013 — 2014, the revised estimates
do not show a decline in :

(a) Revenue deficit

(b) Effective revenue deficit
(c) - Fiscal deficit

(d) Primary deficit

Which of the following statements about
Presidential system is/are correct ?

1. The Head of Government is also Head
- of State

2. The Executive can veto Legislative
acts

Select the correct answer using the code
given below :

(a) 1 only -

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

52.

53.

54.

55.

56.

The Permanent Settlement was rarely
extended to other régions because :

(a) increase in agricultural prices after
, 1810 -increased the value of the

harvest while the Permanent
Settlement disallowed an increase in
the State’s share

(b) the economic theories of Ricardo
influenced the policy makers

(c) the State found it expedient to settle

directly with the ryot )
(d) all of the above

.Who among the following is 'serving as

the Chief Minister of his State for the
fourth consecutive term ? '

(a) Manik Sarkar of Tripura
(b) Tarun Gogoi of Assam

.{¢) Neiphiu Rio of Nagaland

(d) Okram Tbobi Singh of Manipur

Consider the following statements about
Constitutional Government :

1. It is a form of limited government

9. One where Constitution is the basis
of public authority

3. One where Monarch is the formal
Head of the State

4. One where there is always universal
adult franchise

Which of the statements given above are
correct ?

(a) 1 and 2 only
(b) 2 and 4 only
(¢) 1,2and 4
(d) ! and 3

The ruling dynasties Sangama, Saluva,
Tuluva were associated with :

(a) Warangal

(b) Kashmir

(c) Bengal

(d) Vijayanagara

India has made a Polio Vaccination
Certificate mandatory for Indian Visa
applicants from :

(a) Bangladesh
(b) China

{¢) Indonesia
(d) Pakistan
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57.

58.

59.

The Ex-Officio Members of the National
Human Rights Comm:sswn of India
include :

(a) Chairpersons of National Commission
for Minorities, National Commission
for Scheduled Castes, National
Commission for Scheduled Tribes,
National Commission for Women

(b) Chairpersons of National Commission
for Minorities, National Commission
for Scheduled Castes, National
Commission for Scheduled Tribes
only

(c) Chairpersons of National Commission
for Scheduled Castes, National
Commission for Scheduled Tribes,
National Commission for Women
only

(d) Chairpersons of National Commission
for Minorities, National Commission
for Scheduled Castes, National
Commission for Scheduled Tribes,

National Commission for Protection
- of Child Rights

Between the 15% August 1947 when India
became free and the 26* January 1950
when she declared herself a democratic
sovereign republic, the Government of
India functioned under the provisions of :
(a) The Government of India Act 1935
(b) The Indian Independence Act 1947
(¢) . The Indian (Provisional Constitution)
Order 1947
(d) None of the above

The January 2014 referendum held in

Egypt was on :

(a) Accepting or rejecting a draft
constitution

(b) Choosing between democracy and
Islamic rule :

(¢) Choosing between direct and indirect
election of the President

(d) Choosing between two-party and
multi-party democracy

60.

61.

62.

63.

Which of the following factors affects
individual’s demand for a commodity ?
1. Price of the commodity

2. Income of the consumer

3. Prices of related goods

Select the correct answer using the code
given below :

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1,2and3
(d) 1 only

‘On the New Year day of 2014, New Zealand

batsman Corey Anderson made a world
record of fastest :

(a) Test century
(b) Test fifty
(c) ODI century
(d) ODI fifty

Match List I with List II and select the
correct answer using the code given below
the Lists :

List I List II
(Social activist) (Activity/
Organisation)
A. Aruna Roy 1. Lok Sangharsh
Morcha
B. Kalpanatai 2. Mazdoor Kisan
Salunkhe Shakti Sangathana

C. Akhil Gogoi 3. Krishak Mukti
Sangram Samiti

" D. Pratibha Shinde 4. Paani Panchayat

Code ;

A B C D
@ 2 .3 4 .1
b 2 4 3 1
¢) 1 4 3 2
(d) 1 3 4 2

Which one among the fo]]owmg books is

not written by Bharat Ratna Prof. CNR

Rao ? ,

(a) Climbing the limit ladder—A life in
Chemistry

(b)  Nano crystals :
& Applications

(¢) Wings of Fire

(d) Superconductivity Today \ /

Synthesis, Properties
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64. What was the name given to the Indian 69. Which one among the following is
Air Force’s first ever day-night full combat successfully tested in Germany recently
and fire demonstration conducted recently as world’s first green helicopter which is
?;)th;qPS;lKan range 7 environment friendly and emission free ?
(b) Exercise Malabar (a) Volocopter
(¢). Yudh Abhyas (b) Sikorsky
(d) Iron Fist (¢) Eurocopter

' (@) Bell

65. The Perform, Achieve and Trade (PAT)
scheme in India is related to : 70. Which one among the following is
(a) Education indicated by the following. figure ?

(b) Global warming a
'(c) " Energy efficiency
(d) Bharat Nirman 2

66. Which one among the following was the b
reason behind the boycott of recent general
elections in Bangladesh by the main b
opposition parties ? 5 a
(@) Demand for preparation of a fresh (a) a+ab+ab” +.... ‘—'E' forb<1

electoral roll was not fuifilled -
(b) Demand for allowing international (b) a>b=2a>b’
observers for the poll was not fulfilled (€) (a+1b)?=a’+ 2ab+ b2
(¢) Demand for holding the elections (d a>b=>—a<-b
under a neutral government was not
fulfilled , _ 71. Which one among the following statements
(d) Demand for stopping prosecution of correctly defines the term Bio-fortification ?
those involved in 1971 war crimes . . o
was not fulfilled (a) Enrichment of the nutrient quality of
- the soil using biological agents

67. In December 2013, TTEX-2013 (Trilateral " (b) Breeding crops to increase their
Tab‘ldetoia gdia)n:&ne Security Exercises) was nutritional values
conducted between :

(2) India, Maldives and Bangladesh (€) Increase  of  organo-metallic

(b) India, Sri Lanka and China compounds in the organism through

(¢) India, Sri Lanka and Maldives energy flow in an ecosystem

(d) Sri Lanka, Pakistan and Bangladesh (d) Adoption of genetic variable plants
‘ for breeding of high yielding varieties

68. According to the principle of energy :
conservation, when a piston in an 72, Which of the following countries has
autorpobile engine compresses tl:ne gas in successfully test fired Hatf IX (Nasr) short
(a)cc(::);lrm?der, which of the following must ' range surface to surface multitube ballistic
(a) Kinetic energy of gas must increase missile I.B November 2013 7
(b) The gas must undergo a change of (a) . Pakistan

~ state : (b) China
(c) T}llle gas must undergo a chemical (c) Irag ’
change o
(d) None of the above (@ Iran - \/ e
, 20 | —\ é/@‘ ;
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ikl q;ﬂ R R ‘ (a) a+ab+ab2+ ......... =2 forb<1
(b) Pratea & fog sioeasdly Yers &F 1-b
A T @ MR o (b) a>b=>a’>b
(c) W& Ty g@R % adm Prafew (c) (a+b)y=a’+2ab+b

b # A g o @ T A d a>b=>-a<-b

(d) 19713 gg smwg H siqdlem A : ‘
w1 i vt oA g 71. Fr=fefem ¥ & FAw F99 S9-yede
CORR | o W qfeTer ® 7

67. §W32013ﬁ'TTEX-2013 (Trz @ gﬂ%m;z%ﬁm-" |
Fee AT Rt e -
frrd @ g fem T ? ) (b) o qe ¥ gfg F forg wew gt
(@) 9E, "AREE X SivenRw (c) wfes # Faf yaw & gra M A
(b) e, s X A= F-gria® At A gfa \
 (c) W™, HE® AR AedE (d) I=9 Iyvawh FEN & guAa ® Rw
(@) e, wirem X araRy R aRad+y wed #i

68. Tl wxem & Praw 3 aw Bl 72, Preafaie ¥ @ R @ A FamR 2013
waTfed A s ¥ fwed ) Rt ¥ ofr & fft 3 oy ol SgAR vee
H o ofiftg s 8 9w Prafifea o % IX () F1 AT Thew P 7
¥ @ ufeq dam & 7 | | ‘
@ fw # Re el ¥ 3z Ao (@) T
(b) T & e F ufadT @ (®) ¥
() ™ ® TEEPS diEdy gm o (C)gqﬁ o
(@) sgw ¥ ¥ $E T (@ N/ _
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73. If three times of the first of the three
- consecutive odd intégers is 3 more than
twice the third, what is the third integer ?
(a) 15 ‘
(b) 11
{c) 9
(d) 5

74.

75.

76.

Match List I with List II and select the
correct answer using the code given below
the Lists : '

List I ' List I
(Hormone) (Function)
A. Aldosterone 1. Maintains female
secondary sex
» characteristics
B.. Oestrogen 2. Controls circadian
rhythm '
C. Melatonin 3. Salt-retaining
: hormone
D. Progesterone 4. Sustains the
pregnancy
Code :
A B C D
@ 4 2 1 3
) 4 1 2 3
) 3 2 1 4
d 3 1 2 4

Which one among the following has been
declared recently as the first zero-landless

_district in India ?

(2) Kannur
(b) Namakkal
(c}) Hassan
(d) Cuddapah

If every alternate letter of English Alphabet
is written in lower case (small letters) such
that the 21* letter is in capital letter and
remaining letters are capitalized, then how
many vowels will be written in capital

letters ?

(@ 5
(b) 4
) 3
d) 2

71.

78.

79.

80.

.{(a) 0O degree Fahrenheit

If a scientist reads an ambient temperature
273 K in the laboratory, what will a
doctor’s thermometer read it ?

(b) 32 degrees Fahrenheit
(c)} 99 degrees Fahrenheit
(d) — 100 degrees Fahrenheit

Methane is a very potent green house gas.
It is converted to carbon dioxide to easé
its overall effect on global warming. This
process is known as :

(a) Blocking
(b) Ceiling - ' y
(c) Flaring
(d) Stooping

How many squares are there in the figure
given below 7 -

(a) 24

(b) 28 °
© 30 _
@ 32 - :

Which of the following statements about

the detailed corporate governance norms

for listed companies issued in April 2014

by SEBI is/are correct ?

1. It provides for stricter disclosures and
protection of investor rights, including
equitable treatment for minority and
foreign shareholders

2. Under the new norms listed
companies are required to provide the
option of facility of e-voting to
shareholders on all resolutions
proposed to be passed at general
meetings |

Select the correct answer using the code

given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2 __ \\\//

= _. . .
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74.

75.

76.

77

ok = wame faew f & usot

ﬁiﬁ?gﬂ,iﬁﬁ%?ﬂ@ﬁ3aﬁ¥ﬁ;

@ 9 dww s wm g 7

(@ 15 -

{(b) 11

(e} 9

(d 5
I %t 1§ gafm

% gﬁqmazmmm
ﬁ?ﬂ il
(eTeH) (w#rd)

A. TERERUT 1. Rt & Mo S
: AW P FAC

@
B. ¥ 2. GRISTA oF A
et @

C. Bty 3, TAV-GTEE BHIA

D. e AT 4, T w1 waRo

%<

A B C D

@ 4 2 1 3

® 4 1 2 3

© 3 2 1 4

d 3 1 2 4

Freafofen # @ ffg o = s &1 &

ﬁﬁ@iﬁmﬁmﬁﬁamw

(@) F X

(b) THFEA

(c) 8T

(d) =57

*3

78.

79.

80.

I #r¢ IbrE W ¥ e @
273anm%a’r3m‘{%wfnﬁ?{ﬁ
ST T BN 7

@ 0RM wRTERE
(b) 32 FBft wR=EEE
(c) - 99 31t wRAwRE

(d) -100 fsft wt=RTRe

AAT UF Icdd wed MABRE N 2
YA a9 1T THT G & A
1 P fou I wEA grEeieEEs A
gmaﬁﬁ%ﬁ??am%luguﬁmﬁwm

m .

(a) IECET
(b) BEA
(c) g
(d) =maeH

@ ah ¥ Rt af ¥ 7

(a) 24
(b) 28
() 30
) 32

SEBI g0 dd 2014 & <md,

Fyta % forg FORT o ae

& Rug ¥ 7 R/ FUT

e 8/8 7

1. 399 Icvd@d gur faeel dmury
& vy FETe qigd, s
FIIL THET Prag=sl 3 s
F geew feur w8

2. ¢ gfAgE # adA gdieg sob
d Uz e & F 3 grurew gt ¥
TRE F3 & forg yeaifag o gl
T AUGTEH H SAFgIE A
a1 g 71 Reer wE wX

¥ Ru @ 5z =1 W@ w FE W

T |

(a) #Fad 1

-(b)%‘ER‘*T2

(¢) 1 3 2 A=Y

(d):fahla'é’rz \\
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81.

With reference to the various multipurpose

projects in India, which one among the

following statements is nof correct ?

(a) Machkund project is a joint venture
of Andhra Pradesh and Odisha

(b) Parambikulam Aliyar project is a joint
venture of Kerala and Tamil Nadu

" (¢) Mayurakshi project is a joint venture

82.

&3,

| E(20%)

of Odisha and West Bengal

(d) Chambal Valley project is a joint
venture of Madhya Pradesh and
Rajasthan -

Consider the following pie graph deplctmg
budget of a family :

A Food

B Conveyance
C Clothing

D Miscellaneous

F(15%)

E Saving
F House Rent

C(18%)

How many degrees difference be there in
the central angle of the sector for savmg
and miscellaneous expenses ?

(a) 33°

(b) 36°

(c) 46°

(d) 60°

3G and 4G are wireless technologies,

which are supposedly faster, more secure

and reliable. Present day 3G technology

is capable of handling data around

2 Megabits per second (1.8 — 2.5 GHz

frequency band). What speed is expected

from new 4G technology ?

(a) 10-30 Megabits per second (1-5 GHz
frequency band)

(b) 10-100 Megabits per second
"(2-10 GHz frequency band) .

(c) 100 Megabits—1 Gigabit per second
(2-8 GHz frequency band)

(d) More than 10 Gigabits per second
(10-20 GHz .frequency band)

84.

85.

86.

»

The Kuroshio is a north flowing Ocean
current on the west side of the North
Pacific Ocean. Which one among the
following statements regarding this is not
correct ?

(a) It is similar to the Gulf Stream in
the North Atlantic Ocean

(b) It transports warm, tropical water.
northward towards the Polar region .

(¢) The warm water of the Kuroshio
current sustains the coral reefs of

. Japan

(d) 1t begins off the coast of Japan and
flows northward

Consider the following information :
1. Six books are kept one above the
other .

2. History book is just above Commerce

book and Mathematics book is just
. .above Civics book and just below

Physics book

3. English book is between History and
Civics books

Wthh book is between Mathematlcs book

and English book ?

(a) History

(b) Commerce

(c) Physics

(d) Civics

Pesticide treadmill refers to :

(a) Increasé in concentration of pesticides
in the body of the organism

(b) Increase in doses of pesticides to
prevent the resurgence of pests that
were being controlled

(c) Development of resistance in plant
due to excessive and prolonged use
of pesticide

(d) Production of more synthetic

._ pe.stl.mdes . \\ //
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81.-

82.

E(20%)

wﬁﬁﬁrﬁraﬁﬁﬂwnﬁq‘mmsﬁ%

gl # freaffem sol 9 @ #@ @&

TR 7

(a) TEHs WA Fgwe T fsm
F YR TEA 3

'(b) Tfemed s aRgterT #ee T

aﬁramm JuwH 2 .
(©) H{U&ﬁqﬁmﬁmaﬁ%’mﬁqﬁ’aﬁ
RIS IUFA. B

(d) @ ot ufEeET Hewew IR TERE
1 WgFA IUEH 8

Fl oftare #1 992 Tmia O faeifee
¥ e Tt fEw @Rl .

A 9
B @&
C T
D g
E s9a
F 9% famar

F(15%)
A(25%)

TEa 3R TEnl @y & Breuds # sy
Fo ¥ e Bl 1 s @m 7
(a) 33°

(b) 36°

(©) 46°

83.

(1.8 = 2.5 GHz

) 60°

3G AT 4G v fEy €, s aR A
Ty Argar 2 & 3 dgae ol awhl, sftes
e iy Regadm 1 s W
3G dEifET ¥ gfy ¥we 2 Amre
¥3)F IWIE ST
dred # g ¥ 1 9T 4G naha d
ﬁ*ﬁ—'ﬁﬂﬁ'fﬁm%?

(a) 10-30 Amfee 9fad®s (1-5 GHz 3@y

¥3)

(b) 10-100 Fmiie i@+ (2-10 GHz
wghy &3)

(c) 100 Fmfge—] fmiae wfe ¥=s
(2-8 GHz srgfa )

(@) 107 RRES ¥ 3R (10- 20 GHz.

agiy §3)

84.

85.

FAME, T I A A W Tl
AW "R 8 W IO Uid HeME
& ey # X B 1 e ® Preffee
w0l ¥ ¥ FTW wE wE A R 7
(a)- T§ ITQ FedAlfcd FeEP § Toh
A i
(b) ¥8 ®wr, IwEEesdE FF P I
from & ga wew #F A I 2
(¢) FIMWN gy 1 Fo FA A B
varg R ®1 duila s @
(d) ¥8 SO, F d¢ § T B B AN
I F A A 3

P sTEe W AR #R
5w R IR R TR

2. shEw # EF Ay ) gEE @

86.

fF IW 2 A A W} TS
AMRE-TE F [EE B AF F B
I R A gE F A% A @

3. I # g e I RS-

A A OGEE F A H B
T & gEe AR ST A ge F A
¥ FFh @ 8 7
(a) i
(b) I
(©) PR
(d)?ﬂﬁﬁw

ﬁsﬁmﬁésﬁamﬁﬁrﬁ‘wm%?
(@) 1 P X ® fgFArEn A igan
¥ gfg :
(b)ﬁ?ﬂgﬁﬁﬁuﬁaﬁ?mmmm
W%gmﬁaﬁﬁarﬁﬁm'%
fon drgwamh = A A gia -
() fsFAmEl & srcufw X ddF qF
IO ¥ Uy ¥ gy @ FEw

(d) aftrw wf¥erse Al # Ie
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87. Match List I with List II and select the

88.

89.

correct answer using the code glven below
the Lists :

List I List H
(Wildlife (State)
Sanctuary)
A. Mahananda 1. Madhya Pradesh

~ B. Lakhari Valley 2. Uttar Pradesh
' C. Pachmarhi

3. West Bengal
D. Chandra Prabha 4. Odisha
Code :

A B C D
(@ 3 4 1 2
® 3 1 4 2
€) 2 1 4 3
@2 4 1 3

The right letters for question marks (?) in
the following series are :

A CB EC G D 72 2
(a) MN
® LE
(¢) GH
@ IE

Nowadays a new term ‘jail breaking® is

in use. It implies a process :

(@) of running away from most secured
jails of USA by hardcore criminals

(b) that gives users the ability to install
unauthotized software on certain types
of phones

(c) of breaking securfty system by hackers
usihg WiMAX technology

(d) of hacking authorized software from
computers, laptop and mobiles

26

90.

91.

92.

93.

Which one among the following is the
most plausible explanation for the location
of the Thar Desert in Western India ?
(a) Prevalence of sand dunes

(b) The evaporation of moisture by heat
(c) The absence of mountains to-the

North of Rajasthan to cause
orographic rainfall in it

(d) The moisture carried by the South- )

West Monsoon is driven away by the
dry upper air current _

If X is a positive integer such that
2x + 12 is perfectly divisible by x, then
the- number of possible values of x is :
(@ 2

() 5

() 6

(d) 12

What is clickjacking ?
(a) A device that sends and receives data
at every click in a bit second

(b) A device which does/counts clicks

on internet

(c) A malicious technique of tricking Web
users into revealing conﬁdentlal
information

(d) A digital process that is used to
display an image on mobiles .

The inner most region of a hurricane is
known'as hurricane-eye where :

(a) temperature is highest and pressure
is the lowest

(b) temperature is lowest and pressure
is the lowest

(c) sky is clear and temperature is the
lowest

(d) sky is under dense cloud cover and
pressure is the Iowgst

B /(Contd 2D
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87,
|

88.

- 89.

ThIH g 11§ gaftm Al el
W%ﬁmmﬁzmmw
e I9T g :
I i/
(aﬂrsﬁa_ammwﬁ (T=g)
A, W@ 1. e
B. @ = 2. AT
C. =R 3. uf¥ew Fmd
D. =gys 4, gam
T
A B CD
(@ 3 4 1 2
by 3 1. 4 2
)2 1+ 4 3
@2 4 1 3
freafafaa s ¥ yva o () & wA
W EH e wAR AN ?
LA CBETCGD?.?
(@ MN
() LE
(¢) GH
d 1E
AT T T TR S 3T @ @

g B, R P gfew et 81

(a) FLTI AU FT GYFT T IR
¥ waifes gid@ sy & W
AT

(b) W& ufda IwOEais @ wD R
TR § WA ¥ awfted avedu
gm0 ¥ w9d TR 8 7

© U gra WIMAX WRfia &1 Iqam

FT G gomelt B T BT

(d) FrgE, Avery AT AarEd ¥ wiEg

WYTIAT 8F HCT

90

91.

92.

ﬁwﬁf@aﬁ@raﬁwqm o HeEEd

%qﬁaﬁrwﬁm@mz’ﬁmmﬁ%

geoaE wedE 8 7

(a) o fesdl % <amUeR

(b) FST ETO IMEET HT A

() TTEAT ® IR ¥ whapq aw wMA
¢ 9 dal B AE

(d) R-afE AEgA g g @ o

IEaT B I IUR TG AW e A
EGIE |

Mx T @ W & g9 s 2 &

2x + 12, X §IC qUed WG R, @ x F

Hwg wET N ger ;o2 7

(@ 2

(b). 5

- {c) 6

@ 12

et w1 8 ?

(@) @ THE W wRF fewm W e
m_ﬁm %sﬁtm
EXGI

93,
. ®Bd ®, 9Bl

(b) & PR & e W Rew sl
¢ w fmw o fd sl @

' (¢) T golapt wwfe Rrew g 3w

F TU HER AW § AT AR
e FOt F R oo @
(d) T AP afem R Iwdm A
wx fars wefifa & & frg B wmar

%_ .

oo ® wER A B & A w3
(a) a0 gewaw @ R W Prewe @

(b) 79 Preraw & ok s freaw @
(c) s @ & o T P R

--(d)mﬁwﬁww%sﬁ?m

ﬁrr—ﬁrrr 2
(Contd )
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Direction : Consider the information given
below for the next four items.

“The following table gives demand and supply
of rice, in million ton, for the period 2008 to
2013. Surplus is defined as excess of supply

over demand :
Year | Demand | Supply
2008 433 46.4
2009 47.2 47.8
2010 49.5 50.7
2011 53.4 542
2012 54.5 57.3
2013 62.7 63.4
94. The increase in demand of rice was the

95.

96.

97.

lowest in the year :
(a) 2010
(b) 2011
©) 2012
) 2009

The average surplus (in million ton) rice
for the period 2009 to 2013 is :

(a) 1.53
(b) 1.22
(c) 1.44

(d) 1.84

In how many years, the supply (in million -

ton) of rice was more than the average

- supply for 2008 to 2013 ?

(@) 3
(d) 4
() 5
(d 2

The surplus of rice was lowest for the
year :

(a) 2010
(b) 2011
() 2013
(d) 2009

)
* 50

98.

99.

The weight of any object is felt due to
gravity of Earth, When any object goes
inside the Earth or above the Earth, weight

decreases. It will weigh minimum when

an object is placed at :- ‘

(a) The Equator and Moon

(b} North Pole and Saturn

(c) South Pole and 1 Km beneath the
Earth

(d) Centre of Earth and in an orbiting |

satellite -

Which one among the following countries
of Asia is land-locked .?

(a) Vietnam
(b) Cambodia
(¢) Laos

(d) Thailandl

100. Large Hadron Collider was in news

recently for doing some scientific research
to prove the presence of an elementary
particle. The scientist who predicted this
particle in 1964 has been awarded Nobel
Prize in 2013. What is this discovery ?
(a) Particles known as quarks having

mass

(b)
(©)

Origin of Universe timings

Higg’s Bosons or God Particles
explaining why fundamental particles
have mass

None of the above

\\ /(Contd )
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PR g 9 g ® Bg R & R

0. frlt o & % e @
TAFY W A FIRE R e

Preafufed Trol § 2008 ¥ 2013 A wafy ¥ RIS SURLUL TR A S
e @ A i o R T ¥ @ & offge W oyt F FR I oA F @
o . R a o 2

EL] T qff .

2008 | 433 46.4 C (8) PERE @R T W

2009 47.2 47.8 (b) IO ga M wiy W

2010 49.5 507 | (© RN g7 W AT g B 1 km AR

2011 53.4 54.2

2012 | 545 573 @ 3o F T AR A B g

2013 62.7 63.4 | ERELARA |
94.maﬁfﬁmaﬁﬂﬁmﬁ§f3ﬁrﬁ‘d¢r 99.%%%%%3%#@%@

& 7

Reg & 7

(a) 2010 : ki

(b) 2011 - (a) g™

(c) 2012 (b) TR

d) 2009 | ©
95. 2000 ¥ 2013 F AR F g TE@T w d) s

ea st (BREA <7 X) e 2 7 |

(a) 1.53 100. 87 & @ fAY ¥ Rume ¥ FEARsST

) lii o g # SRR whRE W 3G

Eg :784 | P sHaT w1 R g #

N @ o g g 3wfs 3 1964 ® @ w0 W
96. SICE (Pt 27 | . .

#), 2008 & 2013 & frg stwa off Mﬁﬁﬁmlﬁwg

aftr ot ? yerg fvar ) 1 @ w8 7

(a) 3 | () ¥ 97 A gow a& T B AW

®) 4 ¥ AT W@ 2

) 5

@ 2 (b) R & 9T F;|OIRH
97.?rraa$rsrfﬁ?rsrﬁmaufﬁﬁﬁwm? (c) forw & dral o v w1 R W

(a) 2010 ez Brar 8 B i e 1 e

(b) 2011 B 8

{c) 2013 d'\"‘@ﬁﬁ%ﬁi"ﬁ

-(d) 2009 ; @
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101.

The Mariana trench is the deepest part of

the Oceans. Which one among the

following statements regarding this is not
correct ?

‘(@) It is located in the Western Pacific

Ocean, to the West of Mariana island

(b) The trench was first sounded during
the Challenger expedition in 1875

"(c) The trench is about 2550 km long

102.

and an average width of only 69 km

(d) At the bottom of the trench the water

- column above exerts a pressure over

1000 times the standard atmospheric
pressure at sea level

There are 28 steps in a temple. In the

- time A, initially at the 28% step, comes

down two steps, B, initially at 1* step,
goes one step up. If they start
simultaneously and keep their speed

uniform, then at which step from the

bottom will they meet ?
(a) 8"

(b) o

(c) 10"

(d) not possible to meet

103. Match List I with List II and select the

correct answer using the code given below
the Lists :
List [ List II
(Cell type) (Function)
A. Red Blood Cell 1. Help blood to clot
B. White Blood Cell 2. Fight infection
C. The Platelets 3. Carrier of dissotved

substances

D. The Plasma 4. Transport oxygen
Code :
A B C D
@3 2 1 4
®3 1 2 4
© 4 2 1 3
@4 1 2 3

104. The Saragasso Sea is a vast patch of
Atlantic Ocean characterized by an
abundance of floating brown seaweed
called ‘Sargassum’. This is formed due
to the deposit of marine plants and refuse
carried by the :

1.
2,
3.

North Atlantic current
Canary current
North Atlantic Equatorial current

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and3

105. A class starts at 11:00 am and lasts till
2:27 pm. Four periods of equal duration
are held during this interval. After every
period, a rest of 5 minutes is given to the
students. The exact duration of each period

is :

(a) 42 minutes
(b) 48 minutes
(¢) 51 minutes
(d) 53 minutes

- 106. Which of the following are not chemical
changes ?

1.
2.

3.
4.

Tempering of iron
Conversion of iron piece into an

electro-magnet by passing the current
around the iron

Melting of iron
Rusting of iron

Select the correct answer using the code
given below : '

(a) 1 and 2 only
(b) 3 and 4 only
) 1,2and 3
(d 1,3 and 4

. \\ ((/ontd )
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101, 7R @R WeETR 1 gaitw wew 104, WOME! €Y, yewiies Wemm]

T 2| e fuw # el euAy

§ #aT U wE A g 7

(a) & U=l goriq wem@me ®, Wi
i & uftew A safua 2 -

(b) TW WIE W TEUL UEAT I 1875 A
IR A & QT owrh

(c) W& wid e 2550 fEA. ot 2
I9H Agg HsE Faw 69 FA 2

(d) O T ool § ITF TR BN 9T W,

IgE 99 9T A9F qYASAE 79 F
1000 T91 & afF ¥@ SR B

)

IR & nfa TN W, @ auwe |
FTY AT X T R ?

(a) 8 & |

(b) 9%

() 109

103.

(d) fyerr ws@ At 8

T A g 1§ gafg Fifg 8ix
W%gﬁqwﬁzwmm
g IO g :

ThI g1
(FIIHT FT FFR) (FFrd)
A T FE HIPE 1. EG A U

IR ® wewal
B. Wd@ IF PG 2, EFA §. HuW
C. sfezwmy 3. femfie werdf =
, qBH
D. < 4. ArFGS AT
RaET
FT:
, A B C D
@ 3 2 1 4
(by 3 1 2 4
) 4 2 1 3
@@ 4 1 2 3

&l
ws 2 R fowar 2 wawm s
farg @ Tomed’ wed B W
T T fdw 9 9w
w0 P 897 § g9a1 B 7
1. I8 sreqifes g
2. N g

C 3. Sl wewftw famdw g
Ao Ry T K B TET FT gE AL
(2) Faw |
(b) Faa 2 AT 3

(o) A 18R 3
@ 1,233

105. TF wa Al 11:00 &3 J gt 8 3R
AITEA 2:27 T G BIAT 8 | ¥W AU
¥ IR g9 A& F eEA B 8 | TaE
T ¥ YR, om # 5 AT @
o Rw 9w 2 1 v weEA W SF-dF
safy fradt 2 7
(a) 42 Pz
(b) 48 fAT
(c) 1Pz
(d) 53 e

106. Prefafeg & #9R, TEETE  aiEdd

747

LICE]

=

C(b) Pa@ 34
() 1,233
(d 1,334
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'107. Which of the fo]lowing statements with
regard to the Indian Peninsular Plateau
is/are correct ?

1. The Southern plafeau block is formed
mainly of granite and gneiss

2. The Deccan lava plateau is an elevated
tableland consisting of horizontally
arranged lava sheets

3. The Malwa plateau dominates the

Vindhyan scraps, forming the Eastern
flank of the plateau

4. The'trough of the Narmada and Tapti
is interposed between the Vindhyan
" and the Satpura ranges

* Select the correct answer using the code
given below :

(@ 1,2 and 3
(6) 1,2 and 4
(c) 1and 2 only
(d) 4 only

108. All letters of which of the following series

of the English Alphabet appear same when
looked at in a mirror ?

(@ A CHILM
() H, I, M, N, O
© T, UV, WX
@ S, TUV,W

109. Arrange the following fuels in the

decreasing order of air pollution caused
by burning a kilogram of each of them :

(@) CNG, Petrol, Diesel
-(b) Diesel, Petrol, CNG
(¢) Petrol, Diesel, CNG
(d) Diesel, CNG, Petrol

110. Three important rivers of the Indian
| subcontinent have their source near
the Manasarovar Lake in the Great
‘Himalayas. Which among the following

are the rivers ?

(a) Indus, Jhelum and Sutlej _

(b) Sutlej, Yamuna and Brahmaputra
~(c) Brahmaputra, Indus and Sutlej

(d) Sutlej, Jhelﬁm and ?amuna

111. Which of the following ions present in {

low concentration in drinking water is
essential for normal growth of teeth but l
‘harmful to teeth at high concentration ?

(a) Aluminium
(b) Calcium
(¢) Fluoride
() Chloride

112, Which of the fol]owing are the duties and
functions of Indian Coast Guard ?

1.  Preservation and protection of marine
environment

2. Safety and protection of artificial
" islands |
3. Assistance in anti smuggling
6peration's

Select the correct answer using the code
given below :

(2) 1 and 2 only
(b) 2 and 3 only
(¢) -1 and 3 only
(@ 1,2and3
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107. 9% & yedly v & st ¥ Prefife
A X F FAE/A g /e 7
. 2w w1 B @ g@: e ik
| W%w?
2. TEFT A WS TF IST EIN UIK B

Gﬁﬂﬁﬁ%éﬁﬁﬁ?ﬂﬁiﬁﬁﬁ_

a1 2
3. TR W R e @ ey ¥ S
mmmiﬁmm%
4. 7o R aht A DR Rw @k
TET awen $ d Tsd 2
. 4 BT MU wz # Wi F owd I
3 -
(@ 1,233
(b) 1,234
(c) Fad 1 dR2
| (@) #aa 4
108. 3T avimmer o Preffes e ¥ &
ﬁiﬁﬁﬁa\ﬂmﬁwﬁ%@ﬁwﬁmﬂ
femrs w33 & ¢
(8 A, C HILM
(b) H,I, M, N, O
(¢ T.U, V,W,X
@ S, UV, W

109.%%@@,@%%%@
m%ﬁiﬂﬁﬁmmﬁﬁa@m%
BRI F7FA R emaRed AR
(a) CNG, ¥14, 9er
(b) S, 3T, CNG
(c) ¥2YT, S, CNG
(d) ¥4, CNG, I

10. 9t I9eE M @7 wweaqel Ay
F W goq Ruew ¥ wmAEdER #w @
Proe 81 Preafefea & § At 1 =Rat
g 7

(@) Ry, o I wager

(b) W, T ot FEg

(c) werg, g ok waqw

(&) WS, e M wgT
frerfofea st ¥ ¥ e 39 W A
e gign F R < < g
gt & R smaens @ Beg wswak wiw
¥ wr # g afes @7 |
(a) TP

®) dewm

(0) Tgees

(d) R

111.

frfafe ¥ 3 f93, ﬂn?ﬁvmw%
wei X Fw g ? |

1. "9t wafaer &1 ofRew @R g
2. ?ﬁwaﬁq‘r\aﬁq{waﬁ?ﬁm
3. T B W F e
A RY 1w W oW AT W@ I
e

(@) dad 1 A 2

(b) ®ad 2 3T 3

(c) ®aad 133

(d 1,233

112.
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113.

114.

115.

Match List I with List I and select the-

correct answer using the code given below
the Lists :

List 1
(Explanation)
A. Colour of an
opaque object

List IT
(Term)

1. Fluorescence

oY

116.

Which of the following lamps contains a
poisonous gas and therefore should be
disposed safely ?

(a) Compact fluorescent lamp

(b) Light emitting diode

(c) Neon lamp .

(d). Halogen lamp

B. Colour observed 2. Reflection 117. Which of the following statements is/are
through a colowred : correct with regard to Jaitapur, which is
_situated in Rajapur Tehsil of Ratnagir

glass : district in Maharashtra 7
C. Bending of the 3. Transmission 1. It was one of the important ports in

" image of a rod ancient and early medieval times

) . 2. Itis a proposed nuclear power plant
partially dipped site being constructecll) ‘with the

in water collaboration of France
D.- Shining observed 4. Refractlon Select the correct answer using the code

when one steps

given below :

on an earthworm (a) 1 only
Code : (b) 2 only
(c) Both | and 2
@ ’1‘ ? f ;’ (d) Neither 1 nor 2
a : .
® 1 4 3 2 -118. In a family, the age of father, mother, son
© 2 4 3 1 and grandson are A, B, C and D
respectively. Given that A - B = 3,
@2 3 4 1 B+ C =178, C+D =33 and the average

Which of the following islands are made

age of the faxmly is 34 years, then B - C
is :

of small coral atolls and reefs in the (a) 19
Arabian Sea ? by 20
(a) Maldives (c) 21
{b) Andaman d) 22
(¢) Sri Lanka

(d) Lakshadweep

Six roads lead to a village. They are named
as A, B, C, D, E, F. When there is storm,
B is blocked. When there are floods, A,
D and E will be affected. When road D is
blocked, C also is blocked. At a time,
when there are floods and a storm also

‘blows, which road/roads can be used ?

119. Which of the followmg statements is/are

correct 7

1. ‘Ship of Theseus’ was ad]udged as
the best feature film in the 61
National Film Awards

2. “Ship of Theseus’ was produced and
directed by Rakeysh Omprakash
Mehra

Select the correct answer using the code

given below :

(a) 1 only
(a) g . (b) 2 only
(b) C only (c) Both 1-and 2
() F . (d) Neither 1 nor 2
(d) Cand E
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BT T Bz W w@m
Hﬁmiﬁﬁ

g T oI

(ereiaor) (=)

C.9q ¥ Iq: 3. 9=

D. $qC W & 4. Iuad

e ==
E T

A B C D
@ 1 3 4.2
1 4 3 2
© 2 4 3 1
d 2 3 4 i

114.ﬁ?ﬂ1%rﬁqaff?faﬂamaﬁwwamﬁ

115.

Y JAREIN-TeE] AT yara-Rift & e

g7

(a) HIEE

(b) sEwH

(c) e,

(d) &Ry

T MM T W W AR E SR AW
A,B,C,D,E3IRF€ 9a qw amar 8
9l B ¥9%g & 9T 21 99 9 A 2
@ A, D3R E9X 9w gsar & | o Al
D 3% 8 9 8 @ C W I9%E B 9
21 o wr @iz o @ ok Qe At =
@ B, ag fhe wpf @ il =t
ST B Gehar g ?

(@ B

(b) ®ad C

() F

(d CIRE

116. Prafofes ¥ & 99 dw & Rdeh g
et 2 IR sl S Frvew Prowe
a1 ¥ B s =lRe ?

(a) Wea wRdRy A

(b). g IS IS
(c)ﬁ‘l‘f’fﬂ“l

(d) @A o

117.999¢ 3 TR &, & wgrasg, & i

et A TR Tt § Rew 2, PR

¥} F@/A FuT wd 22 7

1w s IR v e F
Aecaqul U a1

2w wie @ wedw A PRl B i

M Re 1 se & W w7 ) 36
T |

(@) $ad 1

(b) Fad 2

(c) 13237

@ 71,7 & 2

118.9% WRar ¥ R, ww, 9F o o A

AY FHA: A, B, CIR D21 1z fRar war
2 B A-B=3B+cC-=7s
C+ D =33 IR Rar N Nwa g

MR A B-CcTw e ?

(a 19
) 20
) 21
(d 22
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120. Which meridian forms the boundary line
between the Indian Ocean and the Pacxﬁc
Ocean ?

121.

(a) The meridian of Cape of Tasmania
(b) The meridian of Cape Town

(c) The meridian of Wellington

(d) The meridian of Perth

A distance X km is covered By two different

trains with velocity v (in km/hr) and kv
(in km/hr) in y and y + 3 hours respectively.
If y < 13 then k is less than :

5

(a) 3
11
(b) 16

3

(©) 2
. 13
- (d) 16

122. Animal cell wall is essentlally made of :

(a) Protein
(b} Carbohydrate
(¢) Lipid-bilayer
(d) Cellulose

123.1f B’s mother is A’s mother’s daughter,

how is A related to B ?
(a) Father ‘
(b) Maternal uncle

(¢) Brother

(d) Paternal uncle

124. Consider the following statements
describing the functions of plants :

125.

1.

Photosynthesis is a process to convert
light energy from the Sun into
chemical energy i.e., Carbohydrates
are synthesized from carbon dioxide
and water using sun light

Fermentation or Zymology is a
metabolic process that converts

carbohydrate to alcohols and carbon
dioxide

Which of the statements given above is/
are correct ?

(a) 1 only
(b) 2 only
(¢) .Both 1 and 2

. (d) Neither 1 nor 2

If GOLD is coded as EMIB, then code
NMPR stands for what ?

(a) ONQT
(b) ROTS
(c) PORK
(d) PORT
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119. Freafafes wat § F7a/3 o8 32 7

1 613 Tt e qmae ¥ R
3% PRma’ B wdirs e Pt
rar mr

2. 1%qmmﬁﬁmq'%ﬁmhtﬁtﬁﬁw$,

THY FyEw Fgq o
o RY 7T w w1 oy wRoad SR
gﬁ_n;
(a) a1
(b) Fad 2
(¢) 1 3% 2 QY
@ T TH 2

120. M@ o] 2= wemmR @ wunw

121.

T F & @ @ g g 7
(a) JofT9r & FThY w1 g
(b) FURTSA & JEORIT

(c) ARTET F g

(d) o =1 R

A B R T oy (me?) @k

Izzmﬁraﬁﬁm-ﬁﬁrmﬁamﬁﬁmﬁ

ITd1 & 7

(a) WEF A

(b) FEferge &
(c) ffas sroe @
() e J

123.3% B # AR, AR oW @ T2 @

A® BY # dmr 2 ?
(a) e
(b) wm
(c) W

(d) ==

1247 B gt w0 Aoy AR AR PR

kv (km/2) 37 ¥ oo y IRy + 392

¥ Xkm® g a7 & ot 2 o®
y<BEAKBRW E?

(a) Eﬂ

1. Yo g g g g e

R et e ¥ goRaR w0
A iR R, Smfi[mﬂ’faﬁizlﬂg&
YHIW F IHM F PR SIS
I 9 ¥ gl B 2

2. v o et & e i
2 W FEfele 1 e IR
FET TRATFES N FOaw =l 2

IR R W FgE ¥ ¥ AR o

2/8?

(a) Fad 1

(b) FF2

(¢) 13T 2 (=T
d FadaLL,T &2

125.GOLD uf¢ EMJB # %9 # a;caa g ar

NMPR %z frasr wdie 2 ?
(a) ONQT
(b) ROTS.
(c) PORK
(@ PORT
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AR A : B-DBQG-N-HBJ ThEw gRawr SgFER

o ]
e gl

WA-A 1 : W dvgar od gigwen

eow) T )

s &

1. vhwr oW B F geE W18, A9 @ Tl giem @ wae saww wod o
¢ T 8w, W1 AT gET T US sMEr W @ity 7 gy gl i g, it
e giewr & wwd AR _ \

2. FHT oA W@ F OMR Iw-19% ¥, 3@ wm ), Jw Avax iR wdwrr gRawr sgww
A,B,CTT DFY, o & wF faar fyelht 4= v fEmfe & @ o) gEaw 70 @ Redard
Faflare A1 ¥ R o ye @ gw/fEmfa @ Rafy § Seews e s Rar
ST |

3. W wew YRew w ag § Ry Tu wieEm A e
aqg@ww‘ ferert 81 wlEm giee W W g©
7 fordl o -

4. %@ g0 qRaw ¥ 125 yrw (999) Re e # wedE wetw R i sish O ® oww
2| v Yo ¥ 9 oo (SoR) Ry ¥ ) T A oF wgeR @ g4, Rl Iee-wrd
oY A FOT TR E) AR o dwn o 5 uw & ol s o §, @ 99 S A
sift Y A wud wEW oA TAE YW F g ded @ & SgER g B

| 5. R o TR o § R e SaeeE W # s w1 g # R g e SR

6. @ guAT F 3T WA £ |
7. WY weal B g wlerm gRaw F AR gl § wegeR I a A wT
FY, AR TAT TEO-UF g IR R P OAIER T fEt ST-wE K A E

S. mmﬁmﬁw@aﬁw—mﬁmﬁ%mwﬁm%ww%ﬂam—m

yfiers B WY T AR IWA WY whew giwer O W A agEl 2
9. F=3 FH 3 fg mw Thew gRew B g A wam E :
10. TE IOU F fag T o
a@ﬁ@m-ﬁﬁmm&qmmwﬁ%ﬁqmﬁmml
() Y% 97 & R 9R IkeE IR F 1 IeaR g wOF weA @ R Re g oF e
IR F R v 3g P B g et w1 ww-faed s F w9 # e SR
(i) R B IR wE @ e IR k@ B, @ W e Swe wrn owmow, sy fin
T IE F ¥ TR IO A g, R ot 9 weE 3 R Swwmraar & ol T
w1 gug feur s ’
(iii) TR S=Mear g FE e g AL fFm s R, swlq IEEER g 9XR Ad R
a8, @ 99 yi9 @ faw W qve o fewm smam

( 99 TF VI T¥ T gRAET @ FT T FE NQ a9 a® T @ )
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